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1 3.7 | AgEstellsid 2R3l 9 T2 56,000 | 7= 4 9
2 3.8 | IARAL a1 A vt Al ey 10,500 | 7t= 8 H
3 3.8 | Ak 10579 A} 5 ARIRRE ] 32,000 | 7t= 54
4 3.8 | IARAL =ude AL Al e ey 50,000 | 7= 8
5 | 3.12 | 27 A8 AR vt Al ZE 2 21,300 | 7t= 6
6 | 3.13 | 9=ATEAETRAE JEYe] | 2RAFAN} 35,000 | 7t= 2
7 | 3.14 | "GS9 @ S2r) 50,000 | 7+= 2
8 | 3.15 | Awstelatras] vt 4 FRZeol 24,600 | 7t= 9 9
9 | 3.15 | AEsfellatd 3] 52 ETAd 120,000 | 7H= 9 ™
10 | 3.16 | E3sher]dkd 2Res]o] 71 Bt 83,000 | 7l= 6
11 | 3.18 | AHEslollewtl] 7hds] 531 o7 280,000 | 7t= | 12 4
12 | 3.26 | Estollsiid, w=x e et 48,000 | 7= 4




